

Page 176:

10) $y'' - 4y' + 4y = e^{2x} x^{-4}; x > 0$

$y_G = y_c + y_p$

$y_c: y'' - 4y' + 4y = 0$

$m^2 - 4m + 4 = 0$

$(m-2)(m-2) = 0$

$m_1 = 2, m_2 = 2$

$y_c = c_1 e^{2x} + c_2 x e^{2x}$

y_p : variation of parameters

$y_p = u_1 y_1 + u_2 y_2$

$y_1 = e^{2x}, y_2 = x e^{2x}$

$W = \begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} = \begin{vmatrix} e^{2x} & x e^{2x} \\ 2e^{2x} & 2x e^{2x} + e^{2x} \end{vmatrix} = e^{4x}$

$W_1 = \begin{vmatrix} 0 & y_2 \\ \frac{e^{2x}}{x^4} & y_2' \end{vmatrix} = -\frac{e^{2x}}{x^4} \cdot x e^{2x} = -\frac{e^{4x}}{x^3}$

$W_2 = \begin{vmatrix} y_1 & 0 \\ y_1' & \frac{e^{2x}}{x^4} \end{vmatrix} = e^{2x} \cdot \frac{e^{2x}}{x^4} = \frac{e^{4x}}{x^4}$

$u_1' = \frac{W_1}{W} = -\frac{e^{4x}}{x^3} \cdot \frac{1}{e^{4x}} = -\frac{1}{x^3}$

$u_1 = \int -\frac{1}{x^3} dx = \int x^{-3} dx = \frac{x^{-2}}{-2}$

$u_2' = \frac{W_2}{W} = \frac{e^{4x}}{x^4} \cdot \frac{1}{e^{4x}} = \frac{1}{x^4}$

$u_2 = \int \frac{1}{x^4} dx = \int x^{-4} dx = \frac{x^{-3}}{-3}$

$y_p = \frac{e^{2x}}{2x^2} - \frac{x e^{2x}}{3x^3} = \frac{e^{2x}}{2x^2} - \frac{e^{2x}}{3x^2}$

$y_G = c_1 e^{2x} + c_2 x e^{2x} + \frac{e^{2x}}{2x^2} - \frac{e^{2x}}{3x^2}$

20) $x^2 y'' + 4xy' - 4y = x^{\frac{1}{2}} \ln x, x > 0$

$y_G = y_c + y_p$

$y_c: x^2 y'' + 4xy' - 4y = 0$

$y = m x^{n-1}$

$y' = m(n-1)x^{n-2}$

$X = xt \rightarrow y = x^n$

$m(m-1)x^m + 4mx^{m-1} - 4x^m = 0$

$[m^2 + 3m - 4]x^m = 0$

$m^2 + 3m - 4 = 0$

$(m+4)(m-1) = 0$

$m_1 = -4, m_2 = 1$

$y_c = c_1 x^{-4} + c_2 x^1$

by variation of parameters
 $y_p = u_1 y_1 + u_2 y_2$
 $y_1 = x^{-4}, y_2 = x^1$
(complete)

$x^2 y'' + 4xy' - 4y = x^{\frac{1}{2}} \ln x$

25) $y'' + 4y' = \text{sech}(2x)$
by variation of parameters